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#include<stdio.h>
int main()

double a, b, ¢, d;
scanf("%If%lf%If%If", &a, &b, &c, &d);
printf("%.5lf", a+b+c+d);

return O;

}
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#include<stdio.h>
#include<math.h>
int main() {
ints, v;
scanf("%d%d", &s, &v);
intt walk = ceil(1.0*s/v) + 17;
int from_zero = 60 * (24 + 6.5) - t walk;
int hh = (from_zero / 60) % 24;
int mm = from _zero % 60;
printf("%02d:%02d\n", hh, mm);
return O;
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\left\{
\begin{matrix}
m+n=x \\
am+bn=y
\end{matrix}
\right.
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#include<stdio.h>
int main() {
int n,s,a,b;
scanf("%d%d%d%d", &n, &s, &a, &b);
if(al=b && a<=5s) {
int x=(s-a*n)/(b-a);
if(x*b+(n-x)*a == s && x>=0 && n>=0)
printf("%d\n%d\n", n-x, x);
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else
printf("No solution.");
} else {
printf("No solution.");
}

}
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#include<stdio.h>
int main() {
double a,sum=0,max=0,min=150;
int n;
scanf("%d",&n);
for(int i=0;i<n;i++) {
scanf("%lIf",&a);
a = (a+5)*10;
sum += a;
max = max>a’max:a;
min = min<a?min:a;

}
printf("%.2[f\n",(sum-max-min)/(n-2));
}
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#include <stdio.h>
int main() {
int n;
scanf("%d",&n);
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for(int t="T;t<=n;t++) {
for(int i=tji<=n;i++)
printf(" ");
printf("+");
for(inti=1;i<=t-1;i++)
printf("%d", i);
for(int i=t-2;i>=1;i--)
printf("%d", i);
if(t'=1)
printf("+");
printf("\n");

}

for(int t=n;t>=0;t--) {
for(inti=t+1;i<=n;i++)
printf(" ");
printf("+");
for(int i=1;i<=ti++)
printf("%d", i);
for(int i=t-1;i>=1;i--)
printf("%d", i);
if(t'=0)
printf("+");
printf("\n");

}

return O;

}
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